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1. Phddl TR 3{^ ^Teft Will*
Ptd^> WT 3ER p4*i ?

(a) 625
(b) 400
(c) 196
(d) 120

2. ^2rC(n,r) pRH^^RRRt ?
r=0

(a) 2«
(b) 3"
(c) 22«
(d) 32"

3. ‘MATHEMATICS’^ 3T^Rt $5
Pi Pith
Ph4 I *0^, Tit Pbd^l
(■m^ 4i f^fe) t, ^fr wr ^Pr
dlci 3RFT $ M^el 3TT^ ?
(a) 302400
(b) 403600
(c) 907200

(d) 1814400

4. Pi Pi Pad ^R Pcqi< cftPii^ ;

1. f, Z x Z WP^RT|
/= {(*y> *-j); e z} ^rt

^iPid t, ?Tt / Z Z
4icid %

2. / ATx 2V ^^4 t
f= {(^ x+y\>*,y e n} 'srt

MP^lPld <Tt f N $ N ^R
H^dd

# % 3RFT

t/t?
(a) ^^11

(b) ^H2
(c) 13fk2^Tf
(d) 1,^T^2

5. •hkPi^ a =
all
a21

°12 a13
a22 a23

a31 a32 a33
^R PdK

'PlPii^ I a13=yz, a2j= 2x> a33= xy
3^< a13, a23, a33 eft WTRft^
(z-y), (z-x), (y-x) A KH
W t ?
(a) (z-y)(z-x)(y-x)
(b) (x-y)(y-z)(x-z)
(c) (x-y)(z-x)(y-z)(x+y+z)
(d) (xy+yz+ zx)(x+y+z)

6.^ A=
'10 0 '
0 cos0 sin0
0 sin0 -cos0?

t,

AnPiPad $$ f ?

1. A+ adjA 30°^ t
2. A~' + adjA 3TT|̂
3. 311|̂

TRlW \RR

(a) ^RleT 1 3Tk 2

(b) ^H2 3^<3
(c) 1 3Tfc 3

(d) 1,23^3
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1. How many four-digit natural numbers
are there such that all of the digits are
odd?

(a) 625

(b) 400

(c) 196

(d) 120

n
2. What is ^2rC(n,r) equal to ?

r=0

(a) 2"

(b) 3"

(c) 22"
(d) 32«

3. If different permutations of the letters
of the word ‘MATHEMATICS’ are
listed as in a dictionary, how many
words (with or without meaning) are
there in the list before the first word
that starts with C?

(a) 302400

(b) 403600

(c) 907200

(d) 1814400

4. Consider the following statements :

1. If/ is the subset of Z* Z defined
by/= {(xy, x-y); x,y e Z}, then
/ is a function from Z to Z.

2. If/ is the subset of N x N defined
by/= {(xy, x +y); x,y e N}, then
/ is a function from N to N.

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

5. Consider the determinant

A =
an a12 «13
n2i «22 a23
a3i «32 a33

If «13=yz, a22-zx, a^=xy and the
minors of «13, a23, a33 are respectively
(z-y), (z-x), (y-x) then what is the
value of A ?

(a) (z — y)(z — x)(y — x)

(b) (x-y)(y-z\x-z)

(c) (x-y)(z-x)(y-z)(x+y+ z)

(d) (xy+ yz+ zx)(x+ y+ z)

fl 0 0
6. If A= 0 cos© sin©

0 sin© -cos©,
then which

of the following are correct ?

1. A + adjA is a null matrix

2. A~l + adjA is a null matrix

3. A -A~} is a null matrix

Select the correct answer using the
code given below :

(a) 1 and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d) 1, 2 and 3
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7. *44 3x3 3TT^ t, y

2 x 3 3{T|̂3^Z^3x2
d4f4 ^1 3TT^ t, 4t IdH^i^d 4 4
d^d-^ d>dd 4 ?

1. (ZY)X 9 *TRTT

2. Y(XZ) 4 3114^41 r4
30^4

3. ^(XZ)^mRRT|̂
414 14^ dd 314^ *R '3xR

(a) 4^13^2
(b) 4^23^3
(c) tor 13^3
(d) l,23fk3

8.14^4 ^TTxT ^4^4 -f^rr ^t
4)4^, 4? «RRR|?
(a) 0
(b) 1
(c) 2
(d) 3i«idd: 3{4di

9. Pi^fcif^a <+d41 RX fd-dK 4>lfdi< :
1. 72 3^< 75 4^ 4k 3Hf^T

WTT3rf ^T 3Ha

dti’dd t I
2. 100 $ ^ifdii ^T

ti^’dd mM4ci I
4 % d^d-HT/di'ld-^ d>dd d$l

V^?
(a) 4rdH 1
(b) 4»dd 2
(c) 13^24^
(d) ^411,^^2

10. PtMfated fadR :

1. 2 +4+ 6 +...+ 2» = m2 +»

2. «4'dd» n2 + n +41 TIc4^
WTT n 4? 3RTF5^
4w 4^r

^xF 4 $ ^r-RT/-d^d-4 ^FT

t/t?
(a) 4^73 1

(b) 4^2
(c) 13^2^44
(d) H4r 1,^^2

11. KR ?4f4^P,q(p> q), Rdld ti*lta<.ul
x2 + bx+ c= 0 4f f, ^T c>0

I ^44 p2 + q2- Hpq =0 4t p-q
14^4; ^RFR t ?

(a) 37^
(b) 3c

(c) 97c
(d) 9c

12. 12 ^TT3if «n$ ^TR^JST 4j 3Rpfa
Xjf4 ^xT 'dil °4R1W 1^1^4*44 Mx4di
^FT XHTf 1 cm ?

(a) 1+72 cm'

(b) 2+72 cm

(c) 2+73 cm

(d) 3+73 cm

DFRG-S-MTH - A 4



7. If % is a matrix of order 3 x 3, Y is a
matrix of order 2x3 and Z is a matrix
of order 3 x 2, then which of the
following are correct ?

1. (ZY)X is a square matrix having
9 entries.

2. Y(XZ) is a square matrix having
4 entries.

3. X(YZ) is not defined.

Select the correct answer using the
code given below :
(a) 1 and 2 only

(b) 2 and 3 only
(c) 1 and 3 only

(d) 1, 2 and 3

8. For how many quadratic equations, the
sum of roots is equal to the product of
roots ?
(a) 0
(b) 1
(c) 2
(d) Infinitely many

9. Consider the following statements :
1. The set of all irrational numbers

between 72 and 75 is an infinite
set.

2. The set of all odd integers less
than 100 is a finite set.

Which of the statements given above
is/are correct ?
(a) 1 only
(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

10. Consider the following statements :

1. 2 +4 + 6 + ... + In -n2+ n

2. The expression n2 + n + 41 always
gives a prime number for every
natural number n

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

11. Let p,q(p>q) be the roots of the
quadratic equation x2 + bx +c = 0
where c>0. If p2 + q2- llp^ = 0,
then what is p- q equal to ?

(a) 37c
(b) 3c

(c) 97c
(d) 9c

12. What is the diameter of a circle
inscribed in a regular polygon of 12
sides, each of length 1 cm ?

. (a) 1+72 cm

(b) 2 +72 cm

(c) 2 +73 cm

(d) 3+73 cm
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13. Let A = {7, 8, 9, 10, 11, 12, 13, 14, 15,
16} and let f-.A-^N be defined by
/(x) = the highest prime factor of x.
How many elements are there in the
range of /?

Consider the following for the next three
(03) items that follow :

Let Z = where

(a) 4

(b) 5
16. What is the modulus of z ?

(c) 6
(a) 1

(d) 7 (b) a/2
14. Let R be a relation from NtoN defined

by R= {(x,y):x,y e N and x2=y3}.
Which of the following are not
correct ?

(c) 1 + sin20

l+sin20

1. (x, x) e R for all x e N

2. (x,y) e R => (y,x) e R
17. What is angle 6 such that z is purely

real ?
3. (x, y) e R and

0, z) e R => (x, z) R (a) f
Select the correct answer using the
code given below : <b)
(a) 1 and 2 only

(b) 2 and 3 only
(c) nn

(c) 1 and 3 only
(d) Inn only

(d) 1, 2 and 3
where n is an integer

15. Consider the following :
18. What is angle 6 such that z is purely

imaginary ?
1. A0B=Anc=>B = C

2. AUB = AUC^B = C (a) “
Which of the above is/are correct ?

(b)
(a) 1 only

v J 2

(b) 2 only (c) nn

(c) Both 1 and 2 (d) Inn

(d) Neither 1 nor 2 where n is an integer
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3FT$ cOd (03) R^Rt $ Pi*< Pi [cl Pad ^R
Pi^K cPlRiU, :

RH eftM p RRRR $$t A $
TO n q$f Rtf RTOTO t |HH M
Q Mt 3HT WRH WR B $> WT n
EFTRRR R$t Rtf | RH cflRl^
P:0= (5n + 4):(9n + 6)t I

19. J$RRR R^ Rtf 5^ TO RR $ 3JRRRT
RRT|?

(a) 1/3

(b) 2/5

(c) 3/4

(d) 3/5

20. RR$ 10$ RRf Rtf TOJRTR Wt ?

(a) 11/29

(b) 22/49

(c) 33/59

(d) 44/69

21. Rf^ d,A Rtf RT$ M|3^ D,B^\ RT$
3RR Rt pRRptfM $$ M-RT M
Rift $tRT ?

(a) D>d

(b) D < d

(c) id > nd

(d) R^vE $$ ^t<

3FT$ cftR (03) Mt $ M PlHpifed ^R
Pi-dK <PlPl kJ, :

(p + qx)9 M IRTR ^R Mr ^tM :

22. x3 3$7; x6 $> d<ld< Rt q RiT
RFT W|?

(a) p

(b) 9p

<c’I
(d) p2

23. TIRR $ RSR RiT 3^qj?f W
(RR MdK x ^t 3TRt^t RRTt $ ^t) ?

(a) pq

(b) p/q

(c) ^p!5q

(d) \/(pq)

24. M ^1$ ^R x2 3ikx4$i t ?

(a) P : q = 7 : 2

(b) p2:^ = 7:2

(c) p:q=2:l

(d) p2:q2 = 2-.'l
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Consider the following for the next three
(03) items that follow :

Let P be the sum of first n positive terms of
an increasing arithmetic progression A. Let
Q be the sum of first n positive terms of
another increasing arithmetic progression B.
Let P:Q= (5n + 4) : (9n + 6)

19. What is the ratio of the first term of A
to that of B?

(a) 1/3

(b) 2/5

(c) 3/4

(d) 3/5

20. What is the ratio of their 10th terms ?

(a) 11/29

(b) 22/49

(c) 33/59

(d) 44/69

21. If d is the common difference of^, and
D is the common difference of B, then
which one of the following is always
correct ?

(a) D > d

(b) D<d

(c) ID > 12J

(d) None of the above

9

Consider the following for the next three
(03) items that follow :

Consider the binomial expansion of
(p+qx?-.

22. What is the value of q if the
coefficients of x3 and x6 are equal ?

(a) P

(b) 9p

(OI
(d) p2

23. What is the ratio of the coefficients of
middle terms in the expansion (when
expanded in ascending powers of x) ?

(a) pq

(b) p/q

(c) 4p/5q

(d) M^pq)

24. Under what condition the coefficients
of x2 and x4 are equal ?

(a) p-q^l-2

(b) p2;^2 = 7:2

(c) p:q=2: 7

(d) p2:^ = 2:7
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3FTH HTH (03) PlMldfed ^R
f^RR :

‘QUESTION’ T7 pRTR ;

25. 4 3T^Rt Pbd^ Rl44> RI A<4^
<Mdin RT HRrT i i

FR (vowel) 31k it «4^4 (consonant)
if ?

(a) 36

(b) 144

(c) 576

(d) 864

26. 8 3TSRT die! Pbd’l <n4d> RT Pk44>
cRRT RR^ f 3^

Q'bld< ^Idl TR 3TT^ if ?

(a) 288

(b) 576

(c) 1152

(d) 2304

27. 8 3RRi RTH f^EEt RTRR RT P|<4r
^Rlir tf^^nfl

RTR 3IT^if ?

(a) 5760

(b) 2880

(c) 1440

(d) 720

3Fl^ RtR (03) 5RR1 % PlHpifed ^R
:

RET Rtf^nr 3TTSJ^ A ^T ^IRRni i, Ef^T

all a12
«21 «22

^a3i a32

"13^
a23
^33?

t 31k cn, C12, C13
^T: alb al2> a13 t I

28. anCn + auC^ + a13C13
|?

(a) 0

(b) 1

(c) A

(d) -A

29. 021^11 + a22Cl2 + a23C13
RH W| ?

(a) 0

(b) 1

(c) A

(d) -A

^21 ^31 aU
30. °23 a33 a13 RTRH W| ?

a22 a32 a\2

(a) 0

(b) 1

(c) A

(d) -A

DFRG-S-MTH - A 10



Consider the following for the next three
(03) items that follow :

Consider the following for the next three
(03) items that follow :

Consider the word ‘QUESTION’ : T * a uLet A be the determinant of a matrix /1,

25. How many 4-letter words each of two where A =
«11 a12
^21 a22 a23 and C13vowels and two consonants with or

without meaning, can be formed ? <«31 a32 a33/
be the cofactors of an, a12, ai3 respectively.

(a) 36
28. What is the value of

(b) 144 anC1 + a12C12 + a13^13 ?

(c) 576 (a) 0

(d) 864 (b) 1

(c) A
26. How many 8-letter words with or

without meaning, can be formed such (d) -A
that consonants and vowels occupy
alternate positions ?

(a) 288

(b) 576

(c) 1152

(d) 2304

29. What is the value of
«21^11 + «22^12 + «23^13 ?

(a) 0

(b) 1

(c) A

(d) -A

27. How many 8-letter words with or
without meaning, can be formed so «21 «31 «11
that all consonants are together ? 30. What is the value of «23 a33 «13

a22 «32 «12
(a) 5760

(a) 0
(b) 2880 (b) 1

(c) 1440 (c) A

(d) 720 (d) -A

11 A - DFRG-S-MTH



'din (03) Rin AnRil^d m
Rhr <ARiq :

3PH cfR (03) RiV. RnRifyd M<
RhK cRRllt :

HH y(x) it^ Wft x,y e N
f(x+y)=f(x)f(y) TRTR

3RdT|W/(l) = 2 %:

4 dl^>ddH, $d4H 3^
dlldid KI 51^1 | ^4cl x t$l41
(x < 6) dldl ^di 3 M<4> 3{k 15x

n
31. X/W = 2044 n 4,1 4W 441

x=2

t ?

M<4> 1 5x TJ^> dlt^>edid
(4x+15) $ddld $ 31k (x + 25) W
qTcn«iM Rm ^rq i

(a) 8 34.‘terf ^1 ktki $
rr^i kr$ ?

(b) 9
(a) 30 -4x

(c) 10
(b) 35-7x

(d) 11 (c) 40-7x

5
32. ^/(ix-i)ki^ t ?

(d) 45-5x

X—1 35. Rmh) did) <^dl k k «t>*i it <4>H

(a) 341 ik^ ?

(b) 682 (a) 30-6x

(c) 1023 (b) 35-6x

(c) 40-5x
(d) 1364

6
33. ^2xf(x) Rbd^ «Kld< % ?

*=1

(d) 40 -6x

36. Riddl d^dl <sld1 k it 6l<t> <slci
kkr ?

(a) 1365
(a) 2lx-40

(b) 2730 (b) 2lx-35

(c) 4024 (c) 20x-35

(d) 5460 (d) 20x-25

DFRG-S-MTH - A 12



Consider the following for the next three
(03) items that follow :

Let/(x) be a function satisfying /(x+j) =
for all x,y e N such that /(1) = 2 :

n
31. If ^/(x) = 2044, then what is the

x=2
value of n ?

Consider the following for the next three
(03) items that follow :

A university awarded medals in basket ball,
football and volleyball. Only x students
(x < 6) got medal in all the three sports and
the medals went to a total of 15x students.
It awarded 5x medals in basketball,
(4x+15) medals in football and (x + 25)
medals in volleyball.

(a) 8 34. How many received medals in exactly
two of the three sports ?

(b) 9
(a) 30 -4x

(c) 10

(d) 11
(b) 35-7x

(c) 40 -7x
5

32. What is £/(2x-l) equal to ?
X=1

(d) 45 -5x

35. How many received medals in at least
(a) 341 two of three sports ?

(b) 682 (a) 30-6x

(c) 1023 (b) 35 -6x

(d) 1364

6
33. What is ^2xf(x) equal to?

X=1

(a) 1365

(c) 40-5x

(d) 40 -6x

36. How many received medals in exactly
one of three sports ?

(a) 2lx-40

(b) 2730 (b) 2lx-35

(c) 4024 (c) 20x-35

(d) 5460 (d) 20x-25

13 A - DFRG-S-MTH



39. A RRf*TR RI RR W|?

0

gTTR 3TT|̂|

37. RRR t ?
( 0 1/2

(a)

(b)

(c)

(d)

(a)

(b)

(c)

(d)

14DFRG-S-MTH - A

1
1

0
1/2

1/2'
1/2
0 J

-1
0

1
0
1

-1
0
1

-1
0
1

-1
0

1/2 '
-1/2

0

1/2 '
-1/2

0

6 m
7 m
8m
9 m

1
0
1

(a)
(b)
(c)
(d)

(c)

(d)

(a)

(b)

1/2
1/2

cfhT (03) RRTt % pRifeifeci R
pFTR :

3FRt cfhT (03) Ri fart R
P1RR :

-1/2
0

1/2

-1/2
0

1/2

n
i
oj

n
i
oj

" 0 1/2
1/2 0
1/2 1/2

fO
1

ABC RR f^RTRR AB = 16 m,
BC= 10m 3^ CA= 10m t I AB

R RR ^rpTte wtt)
t I B R 45° RT R1R

3Rrfcr RRTT t I

40. iWtt 37^ W t ?

17 m

50m
3
40 m
3

16 m

t ?
1/2'
1/2
0

sin20

sin2 0
0

cos2 6

42. cos A + cos B + cos C «ri«r "t ?
(a) 1

(b) 25
r a 37(c) 25

33(d) §

(a)|
(b)|
(c) 4
(d) 1

41. -4^ WR|?
sine

cos2 e
sin20 3fk

0

cos20 1/2
-1/2

0
cos20 1/2

-1/2

cos20 1
-1

cos20 1
-1



Consider the following for the next three
(03) items that follow :

0 sin20 cos20
Let A= cos2 6 0 sin2 6 and

sin20 cos20 0
k 2

A= P+ Q where P is symmetric matrix and
Q is skew-symmetric matrix.

37. What is P equal to ?

(a)
' 0 1/2 1/2^
1/2 0 1/2
J/2 1/2 0 J

(b)
r° i n
i o i

11 1 oj
r° -i n

(c) cos20 1 0 -1
l-i i oJ

(d)
0

cos20 1/2
-1/2

-1/2 1/2
0 -1/2

1/2 0 J
38. What is Q equal to ?

(a)
' 0 1/2 1/2'
1/2 0 1/2
J/2 1/2 0 y

(b) fO 1
1 0 1
1 1 °>

(c)
r o -i r

cos20 1 0 -1
^-1 1 0

(d)
' 0 -1/2 1/2

cos20 1/2 0 -1/2
^-1/2 1/2 0

39. What is the minimum value of
determinant of A ?

(a)|
(b)|
(0|
(d) 1

Consider the following for the next three
(03) items that follow :
ABC is a triangular plot with AB= 16 m,
BC = 10 m and CA = 10 m. A lamp post is
situated at the middle point of the side AB.
The lamp post subtends an angle 45° at the
vertex B.

40. What is the height of the lamp post ?
(a) 6 m
(b) 7 m
(c) 8 m
(d) 9 m

41. What is -4^ equal to ?sinC
(a) 17 m

(b) ^m
(c) ^m
(d) 16 m

42. What is cosJ + cos2? +cosC equal to ?
(a) 1

(b) 25
/ x 37
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3FRI cftR (03) THHf feq Mfe Rt
f^RR WrQ.:

R^TR R^PT 3Rt % P 3^ Q
t, RxR 3tk ||4hm RR $
p^t^tx3fk (x>^) IP3^ Q
$ RtRR RtR RRR: 15° 3Tk
75° < I

43. ^RRT $ RRR RT Rfrf toft R^

t ?

<a> T7T2a/3

(b) 4-73

(0

(d)

44. mIc! 41*1K RiT SlpM it ^bH 9 t
cote t ?

(a) 2+^^x+y

2_^X^
x+ y

x-y

(d) 2_T3(x+7)
x-y

DFRG-S-MTH - A

46. cosec RR ^T t ?

(a)

(c) 2

(d) -2

47. cos^j+cos^j+

2COS^-y^^ cos(-p0
R>T RH R^T % ?

(a) 0
(b) 1

(c) 4COS^jy^ COS^J0
(d) 4cos(^)cos(u)



Consider the following for the next three
(03) items that follow :
There are two points P and Q due south of
a leaning tower, which leans towards north.
P is at a distance x and Q is at a distance y
from the foot of the tower (x>y). The
angles of elevation of the top of the tower
from P and Q are 15° and 75° respectively.

43. At what height is the top of the tower
above the ground level ?

(a)
273

(b)V 7 473

(0

(d)

44. If 0 is the inclination of the tower to
the horizontal, then what is cot© equal
to?

(a) 2+^^x+y

(b)
x+y

(c) x-y

(d) 2-^±^x-y

45. What is the length of the tower ?

(a) 273 x-y

273 I x-y

(c) 473 \ x-y

(d) 473 ^ I x-y

46. What is the value of cosec ?

00

00

(c) 2

(d) -2

47. What is the value of

COS^yy^ +COS^yyj +

(a) 0

(b) 1

(C) 4COS^yy^ COS^yyj
(d) 4cos^jcos^j
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r
48. tanf—1 ’TH ^TT t ?I 8 J

(a) 72-1
(b) 72+1
(c) 1-72
(d) 4/2+1)

49. tan-1cot(cosec-12) ?

(a) f
(b) f
(c) f
(d) f

50. i^r ABC^ a = 4, b=\ c= 2 t I
cos3C |?

128

(b) 128

(c)

H(d) 64

51. cos36°-cos72° ^TT^ f ?

(a)

(b)

DFRG-S-MTH - A 18

(c) 2

«i) 4
52. secx =|^ t 3?k x

tanx +sinx^T ’TFT wt ?

fa)
168

343(b) 600

, s 625<C> 168

mi 343(d) 600

53. tan2165° + cot2165°^T ’TH W % ?

(a) 7
(b) 14

(c) 473
(d) 873

54. sinf2^ + ^sinf Inn-—} HH
\ o J V 6 J

W n g Z % ?

(a)

o>) -j
(c)|
(<D|



48. What is the value of tanf — ?I 8 )

(a) 72-1
(b) 72 +1

(c) 1-72
(d) -p2+>)

49. What is tan ^ot^osec *2) equal to ?

(a) f
(b)|
(0 f
(d) f

50. In a triangle ABC, a = 4, b = 3, c = 2.
What is cos3C equal to ?

128

(b) 128

(C)

51. What is cos36°-cos72° equal to ?

(a) f

(c) 2

w 4
2552. If secx = — and x lies in the fourth

quadrant, then what is the value of
tanx +sinx ?_ 625

168

343(b) “600
, . 625(0 168

343(d) 600

53. What is the value of
tan2165° + cot2165°?
(a) 7
(b) 14

(c) 473
(d) 873

54. What is the value of

sin I 2nn+ |sinf 2nn-
\ 6 J y. 6 ,

where n e Z ?

(a)

3(b)

(0I
3(d) i
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55. l+2(sinx + cosx)(sinx-cosx)=0
t,W 0<x<360°%, faxfad^ RIR

% ?

(a) RRH RTR

(b) Rt RH

(c) ^RR RiR RRT

(d) RR RTR

56.^1^ it ^RRt RTRt RRT x-3TR ^t
RRRRR f^TT $ 75°% RM 'R ^t
RR RR$ 3 faffed RRRt TR
I^K cPId^:

1. wt, fa? fi, —LJ it wat f ।I 2-^3)

2. Tjtfa: rrr sk ^ftaR^fa $
f^RT t I

rr^rt r it R^r-Rr/Rfa-it rfrr R^t
t/t ?

(a) 1

(b) %RR 2

(c) 1 3fa 2

(d) Rfa 1, 2

57. fa? P(3, 4) 3Tfa faR R RR fan-fa?
RT RR fa^1fa RR fan RT TRTtWT W

t ?
(a) 3x +4j-25 = 0

(b) 4x + 3.y-24 = 0

(c) 4x- 3y = 0

(d) 3x-4y + 7 = 0

DFRG-S-MTH - A 20

58. 8 cm ABC
3TRIR AB,y-3W 3RFR t^RT|

fa AB ^JT REqf^, xr|3fk B,
it ^r f^RT11 (8, 0) it

^TRt 3fa ^TT AC % RRRR
RHfa^l W t ?

(a) x-V3y-8=0

(b) x+ y/3y -8= 0

(c) 73x +^-8V3 = 0

(d) 73x-j-873 = 0

59. it 3fk fa^lfa 3T^f
^R 4 3fk 6 7RTRTRF> 3RT:<3^ ddl’t dlcl

^T ^>5 faR ^R fRRT %, W

t ?

(a) 2x-y+ 1=0

(b) 3x-2j-l=0

(c) 3x-4y + 6 = 0

(d) 2x + 3_y-26 = 0

60. (0, 0) R7 t 3fa
3TR, J-3RT xr|| 7^ 7^

(3, 2) (1, 6) it ypRdT|Rt ^fat
Rfa^RT W t ?

(a)



55. If 1+2(sinx + cosx)(sinx-cosx) = 0
where 0 < x < 360°, then how many
values does x take ?

(a) Only one value

(b) Only two values

(c) Only three values

(d) Four values

56. Consider the following statements in
respect of the line passing through
origin and inclining at an angle of 75°
with the positive direction of x-axis :

1. The line passes through the point

2. The line entirely lies in first and
third quadrants.

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

57. If P(3, 4) is the mid-point of a line
segment between the axes, then what is
the equation of the line ?

(a) 3x + 4y-25 = 0

(b) 4x + 3y-24 = 0

(c) 4x — 3y = 0

(d) 3x-4y + 7 = 0

58. The base AB of an equilateral triangle
ABC with side 8 cm lies along the
y-axis such that the mid-point of AB is
at the origin and B lies above the
origin. What is the equation of line
passing through (8,0) and parallel to
the side AC?

(a) x-V3y-8 = O

(b) x + V3y-8 = 0

(c) V3x+y-8V3 =0

(d) V3x-y-8V3=0

59. The centre of the circle passing
through origin and making positive
intercepts 4 and 6 on the coordinate
axes, lies on the line

(a) 2x -y + 1 = 0

(b) 3x-2y-l=0

(c) 3x-4y + 6 = 0

(d) 2x + 3y-26 = 0

60. The centre of an ellipse is at (0, 0),
major axis is on the y-axis. If the
ellipse passes through (3, 2) and (1,6),
then what is its eccentricity ?

(b) V3

(0 f
(d) 75
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61. dddl£ ^t
x2 = 43y % 3id4d IH M^K <a%i HHT
t, nit i^r qq qq; qxqqq
qr t I qR p ih ^t xrqx ^r
ci<MI^ i 3ik q htRfR ^t HHR % Ht
faffed $$ q^q-nr Hit t ?
(a) P = q

(b) p= j3q
(c) p= 2^3q
(d) 2-j3p= q

62.1^ A(2, 4, 6), B{-2,-4, -2), C(4, 6, 4)
3fk P(8, 14, 12) VX RqR ^tRrxr I
PiHfdfyd qFFTt 3 it q^q-HT/q^T-^

vt ?
1. 1^5 3n4H ABCD Ht41 I
2. AC qq nsqtWq, BD

ddld i I
414 R^ HXT qq qqtq qR d^l HvR

(a) 1

(b) %qn 2

(c) 13^2^tHt
(d) Hdt l,Hlt2

63. X^ qt^ d414)^1

j^+Z+^-qx-ey-Sz- 16 = 0 q^

^tf^ i 4 it ^t-ht/
qfo-it q^qq- nit t/t ?

1. hi qtHT z-3th ^t hr!qqm1 1
2. iH^qq^HHan

x+^+z-9= 0xr1^FT t i

dA Hit qq qq|q q^ d^i 4d<

(a) 4idd 1

(b) 2

(c) 1 3fk 2 qtnf

(d) H^T l,Hlt2

64. XTq; HHHH, 3T?qt 2, 2, 1
3fH:7qq <Md Id I I IH HHHH 3tRtHH
^t iqq^tqqixt (direction cosines) 141

t ?

(a) <2/3, 2/3, l/3>

(b) <1/3, 2/3, 2/3>

(c)

65. PlHfWd qjqqf q< f^HR ^tf>XT :

1. J-3RT RdK^MId <0, 4, 0> it
nq^ t

2. Z-3RT qx: Hq ixu % RdkM^MId
<5, 6,0>ltHq^f

nq^vE 4 it q^q-HT/q^T-^ qsqq Hit
t/t ?

(a) %qxq i

(b) ^qn 2

(c) 1 sik 2 itnf
(d) qir i,Hit2

DFRG-S-MTH - A 22



61. An equilateral triangle is inscribed in a
parabola x2 = Jly where one vertex of
the triangle is at the vertex of the
parabola. If p is the length of side of
the triangle and q is the length of the
latus rectum, then which one of the
following is correct ?

(a) P = Q

(b) p= ^3q

(c) p= 2^3q

(d) 2j3p= q

62. Consider the points A(2, 4, 6),
B(-2, -4, -2), C(4, 6, 4) and
D(8, 14, 12). Which of the following
statements is/are correct ?

1. The points are the vertices of a
rectangle ABCD.

2. The mid-point of AC is the same
as that of BD.

Select the correct answer using the
code given below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

63. Consider the equation of a sphere
x2 4-y2 + z2-4x-6y-8z-16 = 0.
Which of the following statements
is/are correct ?

1. z-axis is tangent to the sphere.

2. The centre of the sphere lies on
the plane x+y + z-9= 0.

Select the correct answer using the
code given below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

64. A plane cuts intercepts 2, 2, 1 on the
coordinate axes. What are the direction
cosines of the normal to the plane ?

(a) <2/3, 2/3, l/3>

(b) <1/3, 2/3, 2/3>

65. Consider the following statements :

1. The direction ratios of y-axis can
be <0, 4, 0>

2. The direction ratios of a line
perpendicular to z-axis can be
<5, 6, 0>

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2
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66. PQRS id< B 1 PR = a

3^ QS= b t, fa PQ fa«fa d<H< t ?

69. x RR t, fafa fair
2x2i+3xj+k i-2j+x2k

(a) a+b

4)m chi c|>| -c^U||?

(b) a-b

(a) 0 < x < 2

(b) x<0

, x “+b(0 — (c) x>2

(d)
“~b(d) —

70. fap ABC A, B C

67. RR a 3?k b $4>li Rfal
f, fa a+2b 5a-46 faff I a 3?k

Ifafa fac^T j+k, 3i+j+5k 3^
3j+3k t 1 C fad^ 4<I4<|?

b 41d 4>l 4^1 441|? (a) f
(a) f (b) f
(b) f
(c) 3

(c) f
(d) f (d) f

68. HR dicin’, a , b 3rk c 'M+icict

i^R -nfai t I

71.RR fafaj z = [y] 3fk j=[x]-x t,
[.] ^cR t 1 X

’pfa 4^1 t ^fad ^nK*i<t> t> fa zRR

^3a+2Z>^ x^5a-4c^|-^Z?+2c^ RR Wt ?

fatfa t ?

(a) -8

(b) -32

(c) 8

(d) 0

(a) -1

(b) 0

(c) 1

(d) 2
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66. PQRS is a parallelogram. If PR = a

and QS=b, then what is PQ equal
to?

(a) a+b

(b) a-b

(C) —

a~b<d> —
67. Let a and b are two unit vectors such

—» —> ”*that a+2b and 5a -4b are perpendi¬

cular. What is the angle between a

and b 2

w f
(b) J
(0 f
(d) f

68. Let a, b and c be unit vectors lying
on the same plane. What is

^3a + 2Z>^ x^5a-4c^-^/>+2c^
equal to ?
(a) -8
(b) -32
(c) 8

(d) 0

69. What are the values of x for which the
angle between the vectors
2x^i+3xj+k and i-2j+x k
is obtuse ?

(a) 0<x<2

(b) x<0

(c) x > 2

(d) 0«x^2

70. The position vectors of vertices A, B
and C of triangle ABC are respectively
j+k, 3i+j+5k and 3j+3k. What is
angle C equal to ?

w f
(b) f
(0 f
(d) f

71. Let z = [y] and y - [x] -x, where [.] is
the greatest integer function. If x is not
an integer but positive, then what is the
value of z ?

(a) -1

(b) 0

(c) 1

(d) 2
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72. ^/(x) = 4x+l 3Tk g(x) = Ax + 2?H
TWR t fog(x)= gof(x) k
hh wr ?

(a) 7

(b) 5

(c) 4

(d) 3

73. W f(x) = /ogioCx2 + 2x + 11)
*iM 'till % ?

(a) 0

(b) 1

(c) 2

(d) 10

74. J(xx)2(l +M<icf^ |?

(a) x^+ c

(b) |x2x+c
(c) 2X2*+ c

(d) ±xx+c

75. J ex{1+ Inx+ xlnx}dx «ki<sk ?

(a) x^lnx+ c

(b) x^lnx+c

(c) x + e^lnx + c

(d) x^ + Inx+ c

76. ?J -^sinx-cosx

(a) Vsinx--Vcosx + c

(b) Vsinx + -Vcosx +c

(c) 2^/sinx + 2-Vcosx + c

(d) ^Vsinx + jVcosx +c

77.^ j=^^~16 -8/?i|x + Vx2-16
t, til t ?ax

(a) xa/x2 -16

(b) x-a/x2 -16

(c) a/x2 -16

(d) 4a/x2 -16

78.^ y=(xxyc t, l^rf^feT $ $
^T-HT ^FT t ?

(a) ^+ xy(l +2lnx)= Q

^-^yG + 2/nx) = 0

(c) ~~2xy(l+lnx)= 0

(d) + 2^7(1+ Inx) = 0
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72. If f(x) = 4x + 1 and g(x)= kx+ 2 such
that fog(x)-gof(x), then what is the
value of A ?

(a) 7

(b) 5

(c) 4

(d) 3

73. What is the minimum value of the
function f(x)= log^x?+ 2x + 11) ?

(a) 0

(b) 1

(c) 2

(d) 10

74. What is |(xx)2(l + /nx)dr equal to?

(a) x^+c

(b) ±xix+c
(c) 2x^+c

(d) ^+c
75. What is Jex{1+ Inx+ xlnx}dx equal

to?

(a) xe^lnx + c

(b) x2exlnx + c

(c) x + etlnx + c

(d) x^ + lnx+ c

xin. * • f (COSX)1’5 -(sinx)1'576. What is /. —dx equal
J ^/sinx-cosx

to?

(a) ^sinx--Vcosx +c

(b) 7sinx + Vcosx + c

(c) 27sinx + 2-Vcosx + c

(d) jVsinx + ^Vcosx+c

77. If 7 = ^2^-8/n|x+7?^
then what is equal to ?dx

(a) x-\/x2 -16

(b) x-7x2 -16

(c) 7x2 -16

(d) 47x^16
78. If y=(x^, then which one of the

following is correct ?

(a) ^+^(l+ 2/nx) = 0

(b) ^-Jy(l+2to)= 0

(°) ^-2xy(l+lnx)=0

(d) ^+2xy(l+lnx)=0

21 A - DFRG-S-MTH



79. 3(sin x-cosx) + 4(cos3x-sin3x)
WT W t ?

(a) Ra-ft)

(b) Ra +^)
(a) 1 (c) Ra)f(fi)

(b) -Ji (d) Raft)

(c) -75
83.< /(x) = ln{x+^x2) t ch

(d) 2 h $^t-kt t ?

80. y=^~x2,y= x^ y=Q^l TifW
(W W f ?

(a) Rx)+R-x) = 0

(b) /(%) -/(-x) = 0

(c) 2/(x)=/(-x)
(a) f (d) /(x) = 2/(-x)

(b) f 84. lim d<ld< t ?
jc—»o VI-cos4x

(0 f
(a) 772

(« £
(b) —2^2

81.x-|j|= 0 3^x-2 = 0s^T
W ? (c) 72

(a) 1 (d) KtHT Sltwcd t
(b) 2

85. lim 4x 271 d<H< t ?
(c) 4

x^,n_ COSX
2

(d) 8 (a) -4

82.< /(a) = ^/sec2a-1 t
Ra)+Rfi) r. .a ... .. a ?

(b) -2

(c) 2

(d) 4
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79. What is the maximum value of
3(sin x- cos x) + 4(cos3x-sin3x) ?

(a) f(a-p)

(b) f(a +p)
(a) 1

(c)

(b) 75 (d) f(aP)

(c) 73
(d) 2 83. If /(x) = /n(x + Vl + x2), then which

one of the following is correct ?

80. What is the area of the region (in the
first quadrant) bounded by y = 71-x2,
y= x andy = 0?

(a) /(x) +f(-x) = 0

(b) fix') -f(-x) = 0

(c) 2/(x) =/(-x)

(a) * (d) /(x) = 2/(-x)

(b) f 84. What is Um equal to ?x-»o Vl~cos4x

(0 f « -U
2V2

(b) U2^2
81. What is the area of the region bounded

by x- |y|= 0 and x-2 = 0 ? (c) V2
(a) 1 (d) Limit does not exist

(b) 2
85. What is lim 4x~ 2^ equal to ?

(c) 4 cosx

(d) 8 (a) -4

82. If /(a) = Jsec2a-1, then what is

{-mm equal t0?

(b) -2

(c) 2

(d) 4
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86. /(x) = f} Umx x-rt
Rhd4> «K|«K ?

(a) 0

(b) 1

(c) 2

(d) Um f(x) RT 3<ftdR H^f
.r->0

89.^ y= ln2\ x2-x+l
x2+x+l

t, % = o

ax
(a) -2
(b) 0
(c) 1

(d) 2

o_ ,. sin2(x + h)-sin2x n ,a87. hm - r1 Hd4>
h^o n
t ?

(a) sin2x
(b) cos2x
(c) sin2x

(d) cos2x

88. HR /(x) H5eR t W
f'(x) = g(x) 3^ /"(x) = VW t I
HR HtRR h(x) = {/(x)}2+{g(x)}2 % I
Pt+dRiRad <44di R Pmk 4?l Ri14 :

1. A'(3) = 0

2. 6(1) = h(2)

t/t ?

(a) 1

(b) 2

(c) 1 3^: 2 ^Hf
(d) H^T 1,H^2

. (> d 1 1+ x^+x^ | >90. HR -5- = r = ax+bx % Ht^ll-x2+x4J
$ $ ^lH-HT H^t t ?

(a) a= b

(b) a = 2b

(c) a +6 = 0
(d) 2a = b

91. 3Rfk
+>44 f(x) = (psecx)2 + (9 cosecx)2

<^4d4 HR RR ^tdT t ?

(a) tan2x =£

(b) cot2x =£

(c) tan2x=p^
(d) cot2x = pq

7
92. R?R f(x)= ^(x-J)2 RT tth

7=1
Wrr-^Rt t ?

(a) x = 3-5
(b) x = 4
(c) x = 4-5
(d) x = 5
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z-z x X^X+lxl86. If /(x) = —— , then what is

Urn f(x) equal to ?
x-*0

(a) 0

(b) 1

(c) 2

(d) Um f{x) does not exist
x—>0

2 . 7
o_ x • 1- sin (x + A)-sin x ,87. What is hm — equal

h-^o h
to?

(a) sin2x

(b) cos2x

(c) sin2x

(d) cos2x

88. Let f(x) be a function such that
fix) = g(x) and f\x) = -f(x). Let
h(x) = {/(x)}2 + teW}2- Then consider
the following statements :

1. A'(3) = 0

2. A(l) = h(2)

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

(2\—=— , then what isx2+x + l)
at x = 0 equal to ?
(a) -2
(b) 0
(c) 1

(d) 2

90. If ——y-~r|= ax+bx\ thenMl-x2+x4J
which one of the following is correct ?
(a) a= b
(b) a= 2b
(c) a+b= Q

(d) 2a= b

91. Under which one of the following
conditions does the function
/(x) = (p secx)2 + (q cosecx)2
attain minimum value ?

(a) tan2x =|-
(b) cot2x =£

(c) tan2x=p^
(d) cot2x =pq

92. Where does the function

/(x) = £(x-y)2
7=1

attain its minimum value ?

(a) x = 3-5

(b) x = 4

(c) x = 4-5

(d) x = 5
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TOR $ PlHfdfed TORf RR fdRR

1. Rield TO 3lf^cbdH RR ^TOT x = 3
RRRRte t |

2. ^ctd TO WldlM 3RRR1R (<41TOt
ftfddd) ter x = o rr rtrt te
t I

RR^vH $ $ te-RT/te-^ TOR RT^t
vt ?

(a) TOTR 1

(b) %TO1 2

(c) 1 3^R 2te
(d) RR1 l,te2

94. Clni--1\dx TOR t ?Jo U J
(a) -1

(b) 0

(c) 1

(d) ln2

95. Ri^ ^(si^x+ cos4x)dx = k t, Rt

Jo (sin x + cos x)dx TO RR TOT t ?

(a) k

(b) 10/t

(c) 20Ar

(d) 40A

96' C2(eC°SXsin^+esinxcosx)<&
"fdte RTOR t ?

(b) e

(d) 0

97. x^+y1^ n2,y = sinx 3rfc x = 0
$RI 3RRT R ^R RiT ^RR5R
TTT|?

(a) ^.-1
(b) ^-2
(c) T”1
(d) ^-2

98. itecter TORTt RR iteR :

1. 3RTOT RRter ^+ COs( I = 0ax \dx )
RR RR it |

2. 3RRR RRtdRR

te 2t I
RR^RF $ te-RT/te-^ TOR R^
t/t ?
(a) 1
(b) ter 2
(c) 1 3ftR 2 tef
(d) RRT l,te2
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93. Consider the following statements in
respect of the function

= 0<lx^3
J [ 1, x = 0

1. The function attains maximum
value only at x = 3

2. The function attains local mini¬
mum only at x = 0

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

94. What is P/nf—-l]dx equal to?Jo v* J
(a) -1

(b) 0

(c) 1

(d) In2

95. If Jo (sin4x + cos4x)tic = k , then what

is the value of Jo^Csn^x + cosSQiZr ?

(a) k

(b) lOJt

(c) 20£

(d) 40*

96. What is J^2(ecosvsinx+esmxcosx)dx
equal to ?

(b) —e

(d) 0

97. What is the area of the region enclosed
in the first quadrant by x^y^Tr2,
y = sinx and x = 0 ?

(a) ^-1
(b) T"2
(c) y-"1

(d) ^-2
98. Consider the following statements :

1. The degree of the differential
. dy t f dy\ _ . .

equation -7- + cos -f- =0 is 1.dx \dx )
2. The order of the differential equa-

tion + cosf |= 0 is 2.

Which of the statements given above
is/are correct ?
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2
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F
99. 31k «FTRH^ y-W’K 3^1

+1 «4Wi
w t ?

102. 1$ 50 WTT3Tf
*11^ <£) MlPHdl +41|?

(a) x*+2y = 0
(a) To

(b) x^-2y = 0
0» T5

(c) 7$+2x=0 w B
/ 33<d) 50

100. 3H^T ^*<«1
(dy-dx) + cosx(cfy + dx) = 0

t ?

103. n > 7 'B, M lPi<4>dl f+ 7
C(n, 7) t ?

(a) 0

(a) ^ = tan^^-x+c (b)|
(b) j= jtan^J-x+c W 5

(c) y = 2tan^^-x +c (d) 1

(d) ,y = tan^J-2x+c 104.3m io wn3Tt $ $
wrnj x afk y f i

Mlft+dl 't W 4it (x +y) ?
101. x Tm n eFTJlf WTT3Tt

^if ^5T HIST|3Tk y n
«<341311 TTTST ^T ‘t 1

y = ^| t, ?

(a) 24

(a) j

(b)|

(b) 25

(c) 27

/ X 8(c) 45

(d) 30 (d) i
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99. What is the differential equation of the
family of parabolas having vertex at
origin and axis along positive y-axis ?

102. What is the probability of getting a
composite number in the list of natural
numbers from 1 to 50 ?

(a) W TO

w 4-2^=o (b) g
(c) ^+2x =0 (0

m 33W 50

100. What is the solution of the differential
equation (dy-dx) + cosx(t/y + dx)= 0 ?

103. If n > 7, then what is the probability
that C(n, 7) is a multiple of 7 ?

(a) y = tan(j)-x+c (a) 0

(b), y =|tan^-x+ c
(b)|

(c) y = 2tan^j-x+c
(O|
(d) 1

(d) y = tan(^-2x+ c 104. Two numbers x and y are chosen at
random from a set of first 10 natural

101. Let x be the mean of squares of first n
natural numbers and y be the square
of mean of first n natural numbers.

If — = 44, then what is the valuey 42
of n?

numbers. What is the probability that
(x +y) is divisible by 4 ?

(a)|
(b)|

(a) 24

(b) 25 (O £
(c) 27

(d) 30 (d) £
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105. A number x is chosen at random from 108. Five coins are tossed once. What is the
first n natural numbers. What is the probability of getting at most four
probability that the number chosen tails ?

satisfies x+y>2 ? w 37
(a) i 0» 15

W 37

«»|
(d) 1 109. Three fair dice are thrown. What is

the probability of getting a total greater
106. Three fair dice are tossed once. What is than or equal to 15 ?

the probability that they show different
numbers that are in AP ? (a) 216

(a)
W 17

<b> A w 7i5
(c) 35 (d) £
W 12 110. The probability that a person hits a

target is 0-5. What is the probability of
at least one hit in 4 shots ?

107. If P(A)= 0-5, P(B)= 0-7 and
P(JAP)= 0-3,
then what is the value of (a)|
P^'AP') + P(ATIB) + PGfflB') ?

(a) 0-6 <b> 16
(b) 0-7 ® 75
(c) 0-8

(d) 0-9 (d)|
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111. 3 2 3 TOt 3^: 4
hr 1 fint $ it 3 inRRt %
PbO*} d<l^> fRR 4R it 444 l^4>
RRT ^t ?

(a) 84

(b) 72

(c) 64

(d) 48

112. ^RT X^ d^l 4141 sHddd 5
4 it H^R W 41 I RT mfabdl
% fa 5itit dta 3 ?

w >
w1

Ml 128(d) 625

113. 52HR 4% xft 3 it xr^ HR R
RTT Pi4Mtfl HTHT t | ^3Rt
RTTHT faR? R fa XR R RTT
R X^ RR | tRlddl
Pbddl ?

(a) 9:4

(b) 35:17
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(c) 17:35

(d) 4:9

114. 100 Ht^t xt^ fol?
Pni$ HHH 3^ nnft ^t HHt xfr
din ti^tisR '3uTT4i 0-7 M 14 1 441 I HH
cftfn^ it 3H^-3TI^ fqqi$
H5R H4Ht f | HRT

R W ^txTF ?

(a) 1

(b) 0 9

(c) 0-7

(d) 0-3

115. 54dlcl 4>K«l f^Ht P(4ful ^Ff ^T
"^t H4Rt % I "^TR ^t

VTfxHRT 0-6 t I ^TR
iHt t nt Pwfai xh4 ^t
TTlfiRRT 0-85 t, 3fk ^TR ^tit
Pf+ifal W R ^t
MlRl4>dl 0-35 t I RO MlPl<bdl t fa
falfnR4 HRT R ^T ^t rihtt ?

(a) 0-35

(b) 0-45

(c) 0-55

(d) 0-65



111. A box contains 2 white balls, 3 black
balls and 4 red balls. What is the
number of ways of drawing 3 balls
from the box with at least one black
ball?

(c) 17:35

(d) 4 : 9

114. The coefficient of correlation between
(a) 84 ages of husband and wife at the time of

marriage for a given set of 100 couples
(b) 72 was noted to be 0-7. Assume that all

these couples survive to celebrate the
(c) 64 silver jubilee of their marriage. The

coefficient of correlation at that point

(d) 48 of time will be

(a) 1
112. During war one ship out of 5 was sunk

on an average in making a certain
voyage. What is the probability that
exactly 3 out of 5 ships would arrive
safely ?

' (b) 0-9

(c) 0-7

, . 16(a) 625
(d) 0 3

Art 625

115. The completion of a construction job
may be delayed due to strike. The
probability of strike is 0-6. The pro¬
bability that the construction job gets

/ X 64(c) 625
completed on time if there is no strike
is 0-85 and the probability that the
construction job gets completed on

128(d) 625
time if there is a strike is 0-35. What is
the probability that the construction job
will not be completed on time ?

113. A card is drawn from a pack of 52
cards. A gambler bets that it is either a
spade or an ace. The odds against his
winning are

(a) 0-35

(b) 0-45

(a) 9:4 (c) 0-55

(b) 35 : 17 (d) 0-65
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3RR (02) % fab, fanfafad ^R
Pf-MR 'Plfal!, :

t^ft ^TT fa 50 v5T^t ^RT 4 (dMdi fa WR fafat
fa RT^T faP KH^ lWRI (SD) Hfa
f :

dfuid
PldM

dTE4 3{^> 40 28 38 36

*nnq> (q-qcin
(SD)

15 12 14 16

116. PiRfafad fa fa f^T PbR fa fafaf bb

ifa^T|?

(a) 4 Pld

(b) fafafar

(c) TKPRT f^TR

(d) fafa Ph Id

117. faw fa 31faf ^r Pwi wfa W f ?

(a) 37-5%

(b) 38-0%

(c) 38-5%

(d) 39-0%

<bfa fafa (03) R^fai fa fair PiRfafad ^r
pRR fatfa^ .
PlMpIf^d ^ff^T d Rd Rd I did ^R ^dld

dm 0-10 10-20 20-30 30-40 40-50 50-60

dlidRdl 1 2 4 6 4 3

118. RTf^RTT (■Hl^H) W t ?

(a) 34

(b) 34-5

(c) 35

(d) 35-5

119. RrfWR % HR4 PhFR W t ?

(a) 11-4

(b) 11-1

(c) 10 8

(d) 10-5

120. HR4 RR*! I^R W t ?

(a) 10-15

(b) 10-65

(c) 11-15

(d) 11-65
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Consider the following for the next two (02)
items that follow :

The mean and standard deviation (SD) of
marks obtained by 50 students of a class in
4 subjects are given below :

Subject Mathe¬
matics

Physics Chemistry Biology

Mean
Marks 40 28 38 36

SD 15 12 14 16

116. Which one of the following subjects
shows highest variability of marks ?

(a) Mathematics

(b) Physics

(c) Chemistry

(d) Biology

117. What is the coefficient of variation of
marks in Mathematics ?

(a) 37-5%

(b) 38 0%

(c) 38-5%

(d) 39 0%

Consider the following for the next three
(03) items that follow :

Consider the following grouped frequency
distribution :

Class 0-10 10-20 20-30 30-40 40-50 50-60

Frequ¬
ency 1 2 4 6 4 3

118. What is the median of the distribu-
tion ?

(a) 34

(b) 34-5

(c) 35

(d) 35-5

119. What is mean deviation about the
median ?

(a) 11-4

(b) 111

(c) 10-8

(d) 10-5

120. What is the mean deviation about the
mean ?

(a) 10-15

(b) 10-65

(c) 11-15

(d) 11-65
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